Vizépitési Laboratoriumi Gyakorlat

2.sZ. mérés
2.1. Re - A jelleggorbe meghatarozasa
t= 19 [°C]
n= 1,047 10° [Ns/m2] = 1,000 [m]
v= 1,047 10° [ms] d= 0,005 [m]
\ t Q Qatlag v Re h, h, Ah A
[liter] | [sec] | [lit/sec] [m?/s] [m/sec] [cm] [cm] [m]

0,290 | 92,7| 0,003
1. | 0291 943| 0003| 0003| 0153| 731| 1905| 1883| 0,022| 0,092
0230| 73,7| 0003 10% (0,088)

0,410 | 658 0,006
2. | 0430| 704| 0006| 0006| 0306| 1461| 191,4| 187,2| 0,042| 0,044
0430| 709| 0006 10° (0,044)

0,405 | 49,2| 0,008
3. | 0435| 531| 0008| 0008| 0408 1948| 192,0| 1857| 0,063| 0,037
0,405 | 492| 0008| 10° (0,033)

0,515| 47,5| 0,011
4, 0575| 52,8| 0,011| 0,011| 0560 2674 193,0| 1838| 0,092| 0,029
0,585 | 53,8| 0,011 103

0,610| 36,9| 0,017
5. 0,930 | 56,7| 0,016| 0,017| 0,866 4136 202,2| 1710| 0,312 0,041
0,645| 39,0| 0,017 103

0,780 | 37,5| 0,021
0. 0,790 | 38,8| 0,020| 0,019| 0968| 4623 2049| 166,0| 0,389 0,040
0,665| 357| 0,019 103

0,800 | 29.2| 0,027
/. 0,735| 26,7| 0,028| 0,028| 1,426| 6810 2216| 1409| 0,807 0,039
0,710| 25,7| 0,028 103

0,850 | 25,0| 0,034
8. | 0900| 266| 0034| 0034| 1732 8272| 2369| 1183| 1,186| 0,039
0,815| 24,0| 0,034 103




Vizépitési Laboratoriumi Gyakorlat

2.5z, mérés
2.1. Re - A jelleggorbe meghatarozasa
t= 19 [°C]
n= 1,047 10° [Ns/m2] = 1,000 [m]
v= 1,047 10° [ms] d= 0,005 [m]
V t Q | Qatlag v Re h, h, Ah A
[liter] | [sec] | [lit/sec] [m?/s] [m/sec] [cm] [cm] [m]
0,790 | 20,4| 0,039
9. | 0925| 240| 0039| 0039| 1987| 9489| 2494| 989| 1,505| 0,037
0925| 240| 0039| -10°
0,925 | 22,3| 0,041
10.| o00915| 22,0| 0,042| 0042| 2140| 10220| 257,5| 86,1| 1,714| 0,037
0,920 | 22,2| 0,041 10°°
0,880 | 19,3 | 0,046
11.| o0940| 20,6| 0046| 0046| 2,343 11189| 2705| 654| 2,051| 0,037
0,920| 20,2| 0046| -10°
1,000 | 20,8| 0,048
12.| o0870| 182| 0048 | 0048 | 2445 11676| 2775| 53,5| 2,240| 0,037
0,890 | 186 0,048| 10°




